Dave & Buster's Entertainment, Inc. Form 4 February 20, 2015

February 20	0, 2015											
FORM	<b>/ / /</b>				van				0	MB APPI	ROVA	L
. •	UNITED	STATES SI	ECURITIES Washington				E COMMISS	ION	OMB Numb	oer.	3235-	0287
Check t			vi usiningtoi	II, D.C. /	100 1				Expire		anuar	•
if no lo subject	to SIAIE	MENT OF C				IAL O	WNERSHIP	OF	•	ated ave		2005
Section Form 4			SECU		burden hours per response		0.5					
Form 5 obligati may con <i>See</i> Inst 1(b).	Filed pu ons ntinue. Section 17	(a) of the Pub		olding Co	ompa	iny Act	nge Act of 19 t of 1935 or Se 1940					0.0
(Print or Type	Responses)											
	Address of Reporting AVID A /WI	Sy	. Issuer Name <b>a</b> mbol			-	5. Relationsl Issuer	nip of I	Reporti	ng Person	(s) to	
			ave & Buster' 'LAY]	s Enterta	inme	ent, Inc	:. (	(Check	all app	licable)		
			Date of Earliest Ionth/Day/Year)	X_ Director 10% Owner Officer (give title Other (specify								
2481 MAN	IANA DRIVE		2/20/2015				below)		belo	ow)		
	(Street)		If Amendment, l ed(Month/Day/Ye	-	nal		6. Individual Applicable Li: _X_ Form file Form file	ne) ed by Or	ne Repo	rting Person	n	
DALLAS,	IX /3220						Person	ĩ		1	C	
(City)	(State)	(Zip)	Table I - Non	-Derivativ	ve Sec	urities A	Acquired, Dispos	sed of,	or Ben	eficially	Owned	1
1.Title of Security (Instr. 3)2. Transaction Date (Month/Day/Year)2A. Deemed Execution Date, if any (Month/Day/Year)			Code	on(A) or Di (D)	d of	Beneficially Form Owned Direct		7. Nature of InershipBeneficial::Ownership:t (D)(Instr. 4)direct		al iip	lirect	
			Code V	Amount	(A) or (D)	Price	Transaction(s) (Instr. 3 and 4)		. 4)			
Common Stock	02/20/2015		S	9,249	D	\$ 29.5	86,623	D				
Common Stock	02/20/2015		S	121	D	\$ 29.5	3,569	Ι		Held by David A 2013 Grandc Trust D 6/30/20 Davis A	A Jon hildre Dated 013 Fl	en's
Common Stock	02/20/2015		S	121	D	\$ 29.5	3,569	I		Kindle. Held by David	y the	es

								2013 Grandchildren's Trust Dated 6/30/2013 FBO Antonio Acosta III.
Common Stock	02/20/2015	S	121	D	\$ 29.5	3,569	I	Held by the David A Jones 2013 Grandchildren's Trust Dated 6/30/2013 FBO Dillon Avery Jones.
Common Stock	02/20/2015	S	121	D	\$ 29.5	3,569	I	Held by the David A Jones 2013 Grandchildren's Trust Dated 6/30/2013 FBO Hannah Jewel Jones Scherer.
Common Stock	02/20/2015	S	121	D	\$ 29.5	3,569	I	Held by the David A Jones 2013 Grandchildren's Trust Dated 6/30/2013 FBO Jackson Davis Stephens.
Common Stock	02/20/2015	S	121	D	\$ 29.5	3,569	Ι	Held by the David A Jones 2013 Grandchildren's Trust Dated 6/30/2013 FBO Turner Clark Smith.
Common Stock	02/20/2015	S	121	D	\$ 29.5	3,569	I	Held by the David A Jones 2013 Grandchildren's Trust Dated 6/30/2013 FBO Tyler James Kindle.
Common	02/20/2015	S	121	D	\$	3,569	Ι	Held by the

## Edgar Filing: Dave & Buster's Entertainment, Inc. - Form 4

Stock					29.5			David A Jones 2013 Grandchildren's Trust Dated 6/30/2013 FBO William Rhys Smith.
Common 02/20/201: Stock	; ;	5	121	D	\$ 29.5	3,569	Ι	Held by the David A Jones 2013 Grandchildren's Trust Dated 6/30/2013 FBO Madeline Grace Stephens.
Common 02/20/201: Stock	; ;	5	121	D	\$ 29.5	3,569	Ι	Held by the David A Jones 2013 Grandchildren's Trust Dated 6/30/2013 FBO Madison Alena Jones.

Reminder: Report on a separate line for each class of securities beneficially owned directly or indirectly.

Persons who respond to the collection of information contained in this form are not required to respond unless the form displays a currently valid OMB control number.

## Table II - Derivative Securities Acquired, Disposed of, or Beneficially Owned (e.g., puts, calls, warrants, options, convertible securities)

1. Title of Derivative Security (Instr. 3)	2. Conversion or Exercise Price of Derivative Security	3. Transaction Date (Month/Day/Year)	3A. Deemed Execution Date, if any (Month/Day/Year)	4. Transacti Code (Instr. 8)	5. orNumber of Derivative Securities Acquired (A) or Disposed of (D) (Instr. 3, 4, and 5)	;	ate	7. Title Amoun Underl Securit (Instr.	nt of lying	8. Price of Derivative Security (Instr. 5)	9. Nu Deriv Secu Bene Owne Follo Repo Trans (Instr
				Code V	(A) (D)	Date Exercisable	Expiration Date	Title	Amount or Number of Shares		

## **Reporting Owners**

Reporting Owner Name / Address	Relationships							
<b>F B</b>	Director	10% Owner	Officer	Other				
JONES DAVID A /WI 2481 MANANA DRIVE DALLAS, TX 75220	Х							
Signatures								
Jay L. Tobin, Attorney-in-Fact	02/20	0/2015						
<u>**</u> Signature of Reporting Person	Γ	Date						

## **Explanation of Responses:**

\* If the form is filed by more than one reporting person, see Instruction 4(b)(v).

\*\* Intentional misstatements or omissions of facts constitute Federal Criminal Violations. See 18 U.S.C. 1001 and 15 U.S.C. 78ff(a).

Note: File three copies of this Form, one of which must be manually signed. If space is insufficient, *see* Instruction 6 for procedure. Potential persons who are to respond to the collection of information contained in this form are not required to respond unless the form displays a currently valid OMB number.